—BHHE

TA#RSE | BARRZFT | AR RERE PRIZEETY | —EHARSE -

(F##*1687T)
1 Binx ZOE |BFERBER 2ER 60 10,080
2 Bigx ZOR |HEBEER 2ER 30 5,040
3 Bigz ROE |SEIEBEER 2ER 30 5,040
4 Bink BROIE |EmREIEEBEER TER 60 10,080
5 Bigx RO |ERRMAEERER(—) 2ER 60 10,080
6 Bk =0E |EELEER TER 60 10,080
7 Bk BOE |WEMEER TER 60 10,080
8 Bk OB |ERIREEE(—) B — 37 6,216
9 Bk PROIE  |EmPREIEER B — g 37 6,216
10 B A PROE |ERPRIMAEE(—) Bl E — i 37 6,216
11 B A =0ZE |[EWMEE() Bl E — i 37 6,216
12 B MO |BRAREEBEEER(—) Bl EE B 74 12,432
13 Binzk BOE |BEE2ER BE B 5 74 12,432
14 Bk 201 |ERBERNTZIER B 33 5,544
15 Bk BOM |EMiiiBERm B 88 14,784
16 BiNA EORR |MEREREER(—) TER 88 14,784
17 Bz SROZE B REBE R i £ B — g 18 3,024
18 Bz WOE |FIEEBBEER(—) BAER 66 11,088
19 Bz RO | EBERIFIEEER B 66 11,088
20 Bz MOB) |2 ET e EiEsE 74 12,432
21 T % MO |BlERERMEBER() TER 60 10,080
22 Ttz MO |BERERMBERC) TER 60 10,080
23 Ttz MHOE |ZEORERMBER() TER 60 10,080
24 T % BROZE |EEoEEiiBaER—) 2ER 60 10,080
25 Ttz BOW |ZORERME() Bl E — i 18 3,024
26 T % FFOE | TRIMREBER) B = B 5 37 6,216
27 Ttz BOW |ZORERMBER) Bl EE B 74 12,432
28 I % BO1Z |FTREFEBER() B = B B 74 12,432
29 I % RO |meBREERNEEER HBHEE 66 11,088
30 T & BOMW |FRISEEBER (S18%) BHER 44 7,392
31 BR A 20 |ERMEEnHARES 2ER 60 10,080
32 BR A 207t |ABEEEE() 2ER 60 10,080
33 B A 204 |[ERTESHUESR 2ER 60 10,080
34 BR A HO04# |AIERIERETHES 2ER 60 10,080
35 BR A 2O |EELRSEEUNRETHEE 2ER 60 10,080
36 B A Z0¥k |EmaomER) 2ER 60 10,080
37 BR A 0¥k |ERPABOHREHESR 2ER 60 10,080
38 B A 0¥k |ERPABOHREHESR 2ER 60 10,080
39 BR A ZBON |EmNITIEER 2ER 60 10,080
40 BR A SO |BHEZEE 2ER 60 10,080
41 BRlA ROz |ERPRAROEEHER 2ER 60 10,080
42 BRl A OB | EREEIE(—) TER 60 10,080
43 BRlA BO%E |ERMEERERHES 2ER 117 19,656
44 BR A 0% |EmMNIEER 2ER 60 10,080
45 BR A 208 |HBEEE () 2ER 60 10,080
46 BRlA MO |SEEEER 2ER 30 5,040
47 BR A #OE |BZEF 2ER 60 10,080
48 BRlA 20Z |EFERNIHEZRAER BHER 33 5,544
49 BRlA 20Z |EROWRERES BHER 33 5,544
50 BRlA BOZ: |EmEEmREmER BHER 33 5,544
51 BRlA BOE |[EmEVENEER HHER 44 7,392
52 BRlA ZOL |[EmWMEVEEER) HHER 44 7,392
53 BRlA WOR [ARRIEBEERER BRIERE 37 6,216




54 RT % =0E |BEMEYEEER TER 30 5,040
55 IRZ % HO®E |fFEREBAEER 2ER 60 10,080
56 2T % HO® |1EEER 2ER 30 5,040
57 IRZ % HO®E |1FEERBAE Bl = — A 28 4,704
58 RT % HORE |BEZEZEEER Bl = — A 37 6,216
59 IRZ % FOR |IBIE(LE Bl = — A 56 9,408
60 EPITE BOZE |{RENE Bl = — A 18 3,024
61 EIFEZ MO |REIE B = —fg 37 6,216
62 EIBZ WOE |HFEEESH Bl E—M 37 6,216
63 EIBZ BROPE |H3IBER Bl E—M 56 9,408
64 EIBZ BOE [[EIBTIAZIE Bl —f% 18 3,024
65 EIBZ oM |RENEZEEEZER BlE S5 74 12,432
66 FETE 2 HOIE |BEXAEEERER(—) Bl E E B 147 24,696
67 EIBZ O |[HEFEEEESER BlE S5 74 12,432
68 EIFEZ BROE |HEFEEEESER et 74 12,432
69 EIBZ =20 |RENEEEZIER BlE S5 74 12,432
70 EIBZ =08 |ANRIEBESERO) BlE S5 92 15,456
71 EIFEZ BORE |RAIEEESER Bt 74 12,432
72 EIE % B50E |[RBEREBREIER et 74 12,432
73 EIE % 20 |AIREEBEZSER() et 276 46,368
74 B35 FOR |RREEESER et 147 24,696
75 EIE % 208 |BE:IHAER MHEE 44 7,392
76 EIE % WORS |[EEB25ER MHEE 33 5,544
77 B35 F01r |AINREEBESERO) HOER 56 9,408
78 EIE % BOK |BiEimAER MHEE 44 7,392
79 EIE % =01 |IFaREEESER MHEE 88 14,784
80 EIE % BO® |EB823ER MHEE 33 5,544
81 EIE % OO [EIBHESE EEEES 74 12,432
82 B35 BOE |AREGEER EEEAE] 111 18,648
83 EIE R HOM [EXEBBERERC) e 147 24,696
84 EIE % WO |EMHEt BIERE 56 9,408
85 EIE % MOIE |EREEYHETE BIERE 28 4,704
86 ETE 2 EBO% BEE WA BIERE 37 6,216
87 E3EE BROxE | AEIEE BRIEFRE 84 14,112
88 EIE % BOE |EWimat BIERE 37 6,216
89 I % O |EEEEE BIERE 74 12,432
90 EIE % =20E |[Fii=ERE BIERE 18 3,024
91 E3EE =08 |HAEEE BRIEFRE 84 14,112
92 EIE % =0E |[Fii=ERE BIERE 18 3,024
93 EIE % 205 |Fiii=ERE BIERE 18 3,024
94 e B0 |EEFRERMBAEEIE(—) 2ER 60 10,080
95 ZB % #0 |FEEBEMEEIE() 2ER 60 10,080
96 e 20 |ZBAEB Bl 2 37 6,216
97 e 20 |ZANEMREE BRIERIE 37 6,216
98 BEA WO |BiFEiiTm BRIERTE 37 6,216
99 BEA BROE |REREMEESE BRIERTE 37 6,216
100 BEE % FOH |=EE BRIERIE 37 6,216
101 BE A ZOH |REE BRIERTE 56 9,408
102 B RO |(BEMIE Bl e 56 9,408
103 (EZES FOMH |#t2 BRIERTE 56 9,408
104 (EzES EO=  |TTHEEIER BIERIE 28 4,704
105 (EzES HOE |BEFEHE BIERIE 18 3,024
106 BKE % BOF |#HErE BRIERTE 56 9,408
107 KEZH BOR |KBE BRIERIE 56 9,408
108 BKE % =08 |BUZEREER BRIERTE 28 4,704




109 BE % 208 |EIMEME BRIERE 18 3,024
110 Al% OBy |EES BRIERE 28 4,704
111 Al% BROB) |#HERENKE BRIERE 28 4,704
112 &N MOB [BRRKEa e 37 6,216
113 | BEDPL | MOR |2#HAIRBERET(AN) e 37 6,216
114 | BHEDPL | FOFE |XEBEAE FINIRTE 88 14,784
115 | @#E$0 | ROE |EEBEABR) BRIERTE 18 3,024




